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This is a support to 379> ', etc. — 9912 210 920 b UIION

OVERVIEW

The X713 states that the &n>>72, which rules that during the 7nwni 2> nyaw (as well
as during the following M%°2X) the 1nn and 192 sleep among the men and women
respectively, is a support to 11 ' that on a v" we practice M?°aR by 10°127
7v1x2w. Our MdoIN explains the connection between v"1 and the 2"\ nnw by the
nnwnn o nyaw.!
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The X3 compares the holiday and the 0 nnw, in many places, for example

like the 8n>392 in the first P95 of ?''Y% which states regarding -
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A 3jnn who developed a ny7¥ wa1 during his 7nwni "»° nyaw, we give him ‘time
off’ not to appear before the 772 all the fnwn =% ', whether the Y31 was on his
person, on his [house], or on his garment (the Xn>>2 continues) -
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And similarly regarding v''y>, we allow him not to appear before the 772 all the
days of the ©''y. This is an example where the X123 equates 79 and 0.

SUMMARY
Another example where we equate 7912 and 0 is regarding the permission not to
show the o°v31 to the 772 during these two times of Annw.

THINKING IT OVER

The comparison here between 1nm 7317 1s regarding restricting their 7n»w (by 0°727
TYIXaW) in a case of M2, however in the example MoOIN brings they are equated
in observing their 7172w (in the face of a ¥a1) but not restricting it.

! Seemingly, how can we prove the ruling of 13 "1 regarding v"v from the ruling in the Xn>™2 regarding a 0.

2 In our X713 text it reads 1110391 10291 Y.

3 If the 100 were to appear before the 175 during his Anwn *»> T and the 173 would pronounce him Xnv (or have him
secluded) it would ruin entirely his 7nwni7 "»> 1, and the same would be if he would appear during v"Y.
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